Histograms
Unit 8: Statistics

Draw a histogram for each data set.

1.
Shoe Size
9 7 10 8 8.5 6
6 8 ' 10 7 10.5 8
7.5 7 9 8.5
2.
Games per World Series
7 6 4 7 6 6
4 4 4 4 7 5
5 7 6 5 5 4
5 7 4 5 7
3.
Boiling Point

_ Substance. | Substance
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Radium 1,140 " Gold M ' Magnesium O
Lead 1,750 Mercury 56.7 Nickel 2,913
Carbon 4,827 Sulphur 444.7 Uranium 4,131
Ethanol 78.4 Iron 2,862 Aluminum 2,519
Sulphuric Acid 33 Nitric Acid 3 lodine 184.3
Sodium 882.8 Plutonium 3232




Draw a histogram for each data set.

4.
Campers at National Parks
Joshua Tree 172,008 Bighorn Canyon ] 2958 Obed W&SR 1,020
Cumberland Gap 2,644 Rocky Mountain 75,822 Chesapeake & 4,463
Ohio Canal
Grand Teton 10 Buffalo River 19,081 Shenandoah 86,195
Yosemite 436,603
5.
Age at First Job
17 18 17 13 16 15
15 17 18 14 15 17
13 17 16 18 15 16
22 14 13 16 17
6.
Melting Point
Uranium 1,132 Phosphorus 44.2 Plutonium 63.4
Iron 1,538 Platinum 1,768 Nickel 1,455
Silicon 1,414 Argon 189.2 Magnesium 650
Calcium 842 Water 0 lodine 113.7
Zinc 419.5 Potassium 63.4 Cobalt 1,495
Tin 231.9 Glycerol 17.8 Silver 961.8
Lead 327.5 Titanium 1,668 Sulphur 115.2
Aluminum 660.3 Sodium 97.7




@ Lisd olo.'la /eas+ to jrea'fcsnf.
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@ List data 'eaml To areontes‘/‘,
3, 33 567, 734 134.3 '-{L['-I,‘/'/ 8$34.3, \!oq’ 1140, 1750, 2519

A%se, 2862 913, 3232, 4131, 4327 |

Max = Y§AT

Min = 3

Kanja: L{827‘3 = L{(&‘RLI |
Start at O and 90 {, 5600, We can o 10 sections

of S00 units each. |
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@ List da‘lt« Ieaﬂ[ fo 3rea{-e.nz,

IO, 1020, X\é‘/I‘l, .‘2958,_ ‘1"'/63, l‘)oj[’ 759",7;{/. 36’95;
174008, Y3¢603
Max = Y3¢¢073
min = 10
Ka,nje = 436603 - o = 43¢,593
Start at 0 and go to 450000. We could do
10 sectians of Y5000 or 9“:"8.0‘)(1‘07;5 of 50,000,

T
o

16|

1 -+

'"J’gll o

50K
looK
ISoK
AooK
AS0K j"
300K T
3s0K T
YooK
YsoK



® List data least 4o Srem‘eﬂl‘.

13, 13, 13, 14, 14, 15, 15, 15, 15, 16, 16, 16, 16, 17, 17,17, 17 17,17
13 18, 18, A&

Max = A2
min = 13
Range = 22-13 = 9
5+M+ at 13 “""{ 30 uml;‘{ He ba:e numloerj
feaclh 23.
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© List data least +o ‘7““{@51{.
O, 17.8, W42 634 917 13.7, 115.2, 189.2, A3, 3275, dYiis,
639.4, 6Se 60.3, ¥4 dei5, 1133 114 1453, 495, 1533, 166F, 1768
Max = 176%
Mia = O
Range = 1768 -0 = 1768
Start with 0 and go un Ll 1800. We could o4
0 sections of I8, or 9 sections of 200,
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